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or division is called?
Decile

[ECO154] If total weight (FX) is AZAE f x = 47 and sum of units (f) is AZA£ f = 19,
calculate Weighted point average.
2.47

[ECO154] When data is broken down into four equal parts or division, each part or
division is called ----- .
Quatrtile

[ECO154] Given the scores of 8 students in an examination as 12, 5, 6, 2, 14, 10, 18
and 5. estimate standard deviation.
5.07

[ECO154] Given the price (N) 5, 7, 9, 11 and 13 and corresponding qty supplied (kg)
respectively as 40, 60, 80, 100, and 120,, what is the total expenditure if were 100kg
supplied and bought?

N1100

[ECO154] From a set of observation, mean = N279.76, median = N279.06, mode
=N277.50 and standard deviation = s = N15.60. Find first co-efficient of skewness.
0.1448 of 0.15

[ECO154] Given the following unit price of potato (N) 5, 7, 9, 11 and 13 and
corresponding qty supplied (kg) respectively as 40, 60, 80, 100, and 120, the quantity
supplied at N7 was -----

60kg

[ECO154] The net weights of the content of 5 coke bottles selected at random are 85.4,
84.9, 85.3, 85.2 and 85.4. What is the arithmetic mean of the sample observation?
85.40000000000001

[ECO154] Given the scores of 8 students in an examination as 12, 5, 6, 2, 14, 10, 18
and 5. calculate the variance.
25.75

[ECO154] Given the set of observation as 7, 12, 13, 15, 16, 17, 18, 19, 20, 25, find The
lower quatrtile
13
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